E]E’ [
=
G

Series HMJ/2.

Code No. 59/2/3

e A, qﬁmﬁaﬁ@aﬁwgﬁw%g@@
Roll No. T 3 g |
' Candidates must write the Code on the
title page of the answer-book.
e NOTE
(D Fu I R oA b 39 g9 § g‘fﬁﬂ (I) Please check that this question
98 19 2 paper contains 19 printed pages.

(D s & Qe 7 st 31 fag 1 re
TR I B IAL-YRETRT o JE@-I8 |
e |

(ID

Code number given on the right
hand side of the question paper
should be written on the title page of
the answer-book by the candidate.

(IID %ot w9 o % 30 g o
34TF 7 |

(I1I)

Please check that this question
paper contains 34 questions.

(IV) P 5 %1 IR foran &+ 4
Ugel, IAG-UREdR] H U W1 ShHETH
v ford |

(Iv)

Please write down the Serial
Number of the question in the
answer-book before attempting it.

(V) 38 999 <l 9gd o fow 15 fime =1
g o T R | Y- & faa
w@iE H 1015 &9 Rl ST@W |
10.15 991 ¥ 10.30 S b DT had
Y99 1 Tl 3R 3H IE(Y & A
T ITR-YIEdHT T HIE I e foraw |

V)

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the students will read the
question paper only and will not
write any answer on  the
answer-book during this period.

i o fasm= 52
POLITICAL SCIENCE
eiRa aa : 3 w92 S7fEIBaH 37 - 80
Time allowed : 3 hours Maximum Marks : 80
.59/2/3 P.T.O.




sk

=T 397 :

FHETfTRaT 143911 &1 Siga Graei] & 9ieT 3R 3751 &ed] & 9Ierd HIlarg :

(i) Jo7-97 i @vSl § fayifaad 8 — &, @, W, ¥ 0T &F | @4t ¥¥T S
g1

(i) WIS & — 97 J&I7 1 8 20 T 37id TG-FF0T J97 &, Jd% Fo7 1 3% T & |
eI J97 HT I UF Jeg I7 T q1F Teg 20 Vsg) & 3718 77 517 F13T |

(i) &S & — J97 G&7 21 & 28 TY-IHIT J97 &, F% F972 3Pl &7 8 | IAF J97
B IR 40 Tz & 3718 787 &1 FRY |

(iv) TWUE T — Y97 &7 24 @ 27 a% 9-3009 97 & JAF Jo7 4 3Bl &
8 | ¥ T97 1 I 100 Fez] & e 787 &1 03T |

() TUE T - J97 &7 28 & 30 TF 51 7 ARV R 7T U F97 [7 379471 FIg1 T
STERT 8, Jed% J97 5 37h] &7 &8 | Ied% o7 & I 150 Ireg] & 3ifesh 787 &1
18T |
o7 &1 31 HHGF & Gafia & 4 gEaqul Tl & 9EaE & T TGHeR @
STTIR T & & T & | FTHT I 37 FH-Gi&ashT 7 o1&y |

(vi) WIS &F - Y97 T&I7 32T 34 a% JH.3009 I97 5, Y9% Yo7 6 3H BT
8 | Je% F97 BT I 150 ¥Is5] & 37fers 787 g1 Fizw |

(vii) I GI&T T fagar &4 TeY R &9 & Ik Ieg HH FT JUqAYT GIHT
HIT |

(viii) IJ¥7-97 7 Hi3 GHY fdHeq 781 & | T4, TH-Uh 37 qIcd T J97 H, IR-TR 37H]
Jel TF I H T &5 HPl aict @i T 7 ak® deey 7T 7w § 1 °d ge
7 @ Fac7 0 &7 faheq 7 I [7lkaw |

(ix) §GF i, JEVIHATIR, JAF G K Jo7 & GI JIed 14657 13T 7T & |

U &H

1. TafaRed o ami 6 gfd arefe a3 i .

9/11 & BHA o Ui dfery @i i o fgams wdien 3 3aEe
1

AT | 2><§=1
HAYAT
1960 | s HEEAT H, WRA AR TIehed™ < = Y A
fr o gEeR fohe T | 2%:1

591213, 2



E]E’ [
=
G

Read the following instructions very carefully and strictly follow them :

General Instructions :

(i) Question paper comprises five Sections — A, B, C, D and E. All questions are
compulsory.

(it)  Section A - Questions no. 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each, but not exceeding 20 words.

(iti) Section B - Questions no. 21 to 23 are short-answer type questions, carrying
2 marks each. Answers to them should not exceed 40 words each.

(iv) Section C — Questions no. 24 to 27 are long-answer type questions, carrying
4 marks each. Answers to them should not exceed 100 words each.

(v)  Section D — Questions no. 28 to 30 are two passage based questions and one
picture OR cartoon based question, carrying 5 marks each. Answers to them
should not exceed 150 words each.

Question no. 31 is a map based question that includes identification of
important places on the basis of given information. Write its answers in your
answer-book.

(vi) Section E — Questions no. 32 to 34 are long-answer type questions, carrying
6 marks each. Answers to them should not exceed 150 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered
to as far as possible.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in 1 question of one mark, 1 question of four marks and
3 questions of six marks. Only one of the choices in such questions is to be
attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Complete the following blanks in a meaningful way.
The US launched Operation against all those
suspected to be behind the attack of 9/11. 2><é =1
OR
In 1960, with the help of the ‘Indus Waters Treaty’ was
signed between India and Pakistan. 2><é =1

591213 3 P.T.0.
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2. JUT T9 i TATGET o Il & aR H FAfaRad § § HiH-01 SeF orwed 8 2
(A uh et fogw fifd gem we
(B) T HgT & FHHTT
(C) U HT3 SR hl T
(D) I qUT AN AHA F IS &I W TG
3. 3% foem #, yra § ugat i o9 gATEl ° Silg urdf % g & fore Iwers

Y@ SHRUT hid-HT T ?

4.  foreht T 1 fogw ifa fora #res @ yafaa gt 8 2 98 S g |

(A) I I HH

(B) hadl 3TN HRh
(C) 3Tl 3T AR Hh
(D) hdA ATfH HH
5. ffafad e & & tuan Told & &9 d yguH Hifve | fhH wh 3w
TR 310 I <l gfte hifdw |
I Mg o o ‘Towa 6t arefht guer 1 g o o gfaoft Mg o < 9
Fal g1 fofad 8 |
6.  WIEHdH THETAT ¥ FAT I & ? Th IGTE01 sh1 HFEA § T2 HIT |
7. 9 fu T Sem H T@ Fh AU IT-YiEaent § gH: fafan
€ & 91e, 31T fogrt arerdt, 1988 W g1 <3 % S TEHl I GURA & forg,
EEEEEIRR PR CIERFIiCCll
8. I Y 39 e W TUA & b 1975 H SATUTqehIT shl TN & WRA H Irfepat
% Tl faawor ot AR W fen” 2 fRdt e qsh g ot I At gfte
SHifsT |
9. TmafifRad semen # @ 9o o7d § Hi-Ht =T w9 ?
(A) 7T I T
(B) YoM fova g
(C) feufsmn & wam a9 1 firwen S
(D)  9W TR qre
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2. Which among the following statements about the objectives for the
establishment of the European Union is false ? 1
(A) To provide a common foreign policy
(B)  Creation of a single currency
(C) Establishment of a common market

(D)  Cooperation on justice and home affairs

3. In your opinion, which major factor was responsible for the dominance of
the Congress Party in the first three general elections in India ? 1

4. The foreign policy of a nation is affected by which factors ? Choose the
correct answer. 1

(A)  Cultural factors only
(B) Domestic factors only
(C)  Domestic and international factors
(D)  Economic factors only
5. Identify the following statement as true or false. Give any one example to
justify your answer.
“The countries of the North are more concerned about the protection of

the global commons than the countries of the South.” 1

6. What is meant by cultural homogenisation ? Explain with the help of an
example. 1
7. Correct the statement given below and rewrite it in your answer-book :

After Nehru, Atal Behari Vajpayee became the first Prime Minister to
visit China in 1988 to improve relations between the two countries. 1

8. Do you agree that “the proclamation of Emergency in 1975 weakened the
federal distribution of power in India” ? Give any one argument to
support your answer. 1

9. Which one of the following was the last to happen ? 1
(A)  Foundation of NATO
(B)  First World War
(C)  Dropping of Atomic bomb on Hiroshima
(D)  First NAM Summit

591213 5 P.T.0.
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H@-ﬁﬁ%ﬂaﬁmaﬁ@a@ﬁ@ﬁw AT AT hal T 8 2

g3 .30, (FHer) w1 gl w9 fafau |

IRd § @ femedl & fiam 8 mgequ e H e arel qdqr 19U AM
fafee |

1985 % 3TEH THSANI o TRUTH I AMehe HITT |

TS # ga-seet & @ A R 2

3G TSHIfTh g 6l TgaM hIT ST T <, Teh TEhid 3T TH g & o=
A <R |

(A)  YRAHE TS g

(B) HRA™ SH 99

(C) T9ad urel

(D) YA S 9

&G H GHNEG] Shifd o 91¢ THSETG Aifead TR (3J.08.T9.371.) fhg a9
T 37fCdcd | TR 2

(A) 1914
(B) 1917
(C) 1939
(D) 1991

fova =R wTed (Ssey,&1.31.) @i foshrasiia gun & fow sifues wierl e
1T =TS T shed gemsy |

IR T F A g ek T 6 gl AR 1,1_

s # faiem o fashma o fote St Tt gm e 39 ¢ HisA
T €I 2 |
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Why was Anti-Arrack Movement called totally a woman’s movement ? 1
Write the full form of SEATO. 1

Write the full name of the leader who played a prominent role in the

integration of Princely States with India. 1
Assess the outcome of the Assam Accord of 1985. 1
What does defection mean in politics ? 1

Identify the political party which lays emphasis on the idea of one
country, one culture and one nation. 1

(A) Indian National Congress
(B) Bharatiya Jana Sangh
(C) Swatantra Party

(D) Communist Party of India

The Union of Soviet Socialist Republics (USSR) came into being after the

Socialist Revolution in Russia in 1
(A 1914
(B) 1917
(C) 1939
(D) 1991

Suggest any one step that should be taken to make the World Trade

Organisation (WTO) more acceptable to the developing countries. 1
Fill in the blanks with the appropriate name of the State : é+ é =1
The ° Model’ is the name given to the path of planning and

development charted by the State of
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&
freaffad 8 @ &9 ‘g4 3% WaTHg’ M IR 1 i@ of ? 1
(A) I 3T HeA™ TS
(B) . ToRTATATE
(C) ¥T=H g 3
(D) .. pAREN

294 Ts¥ < &9 H, fafown & 9ara o a1y fao & au=, dmara i gfieer o0
Torgetwor SHifSw | 1

ECLERC|
T % Th-gA b YYcd 3T = o Teh-gd o UYcd o o9 7T T HIT | 2
1975 § STTUTdehTc 3T 3Geh TE-UTH <hl TG ol HauTeh Hehe hl Aafer =i

gl T 8 ? 2

TIH TS GLaT aRee shl TE Hegadn & foe, wid Y Sefiear 1 gueda foet

T 3T b G ity | 2
QU T

Ig el Hal db 3Irud @ b Al eferor ufsmm & @ft ewr e fim W@ &
IR-YR Geh-sATIR W TgHd & AW, a 39 &F H wifd IR g & TH T

AT h1 IETA B Tehell & 2 4
feregl o1 3IeTetvl g1 I8 guItsy, b Tads wra &t fagw Hifq 3 wifoqet fova &
O I GU L 1 WEH TAE TR | 2x2=4
1989 H, WRA o AR TSiHifes il H ot 31 wgdfd & foheal Q1 fagati o
U T | 2x2=4
fepal =R dehi gra fog hifSe for Hifed g9 el 3 goHifas 31 |
oo &t T o | 4x1=4
AT
I Aifoad @9 1 formed 781 g3 s, i 39 feafa &1 fowa, ToFifa w
T T ? 4
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=
Who among the following was the author of the book titled ‘Economy of
Permanence’? 1
(A) Maulana Abul Kalam Azad
(B)  C. Rajagopalachari
(C)  Acharya Narendra Dev
(D) J.C. Kumarappa

Analyse Chogyal’s role at the time of Sikkim’s merger with India as its
22nd State. 1

SECTION B

Differentiate between one-party dominance of India and the one-party
dominance of China. 2

Why is the Emergency of 1975 and the period around it known as the
period of constitutional crisis ? 2

Give any one suitable argument to support India’s candidature for
permanent membership of the UN Security Council. 2

SECTION C

How far is it justified to say that a new chapter of peace and cooperation
might evolve in South Asia if all the countries in the region allow free
trade across the borders ? 4

Give any two examples to show that the foreign policy of independent
India vigorously pursued the dream of a peaceful world. 2x2=4

Describe any two points of growing consensus that appeared to have
emerged among most political parties of India in 1989. 2x2=4

Give any four arguments to prove that the Soviet Union had become
stagnant in an administrative and political sense. 4x1=4

OR

If the Soviet Union had not disintegrated, how would that situation have
affected world politics ? 4

591213 9 P.T.0.
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28. = feu MU HT H eyHgds e Hifve qun Fafafad g % S®
IS L

(a) 1o | fe@me U 8f5h dom e fohe a1q % i § ?
(b)  IEA G 1 Hew T S @i 7 2
(c) A o TR, 8f e o S ®I W HH HI TTH R @8 ?  2+2+1=5
Fig:  RHECTRIT J97 AT gIRETEAT qhenieEl & o/ Jv7 e 28 & T T/
g1/
(28.1) YUk gear Aifd o = o ®9 ° T3aEq i 1w o7 7 2

(28.2) UGN FR&IT hl AN IR FTgl 9RO & i 3N il qgrmar §
AT T T | 2+43=5
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SECTION D

28. Study the cartoon given below carefully and answer the questions that
follow :

(a) What do the soldier and the pigeon shown in the cartoon
symbolise ?

(b)  What message does the cartoon convey ?

(c) As per the cartoon, what task is the soldier trying to
accomplish ? 242+1=5

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 28.

(28.1) What is meant by alliance building as a component of traditional
security policy ?

(28.2) Distinguish between the internal and external notion of
traditional security with the help of examples. 2+43=5

591213 11 P.T.0.
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29. = fu U gy w1 eAEydSs emed Hifw iR fFrfafad yeE % I
fofau -
Haa g3 o o qo6 S 9T 1 SfEAT o AW § @ @ o W WRA
IR IIfeREa™ 9™ % & ¥ o si9 die fean Smum | I8 faueH ggdmes ar o
&, 3 W Hoen w1 R A H dF R oft wfET o1 | 7 fomn e R
HTitieh IEHEAT 1 THTSH &1 YR SR AWM | 3866 d13- a8 o 6 1
§ATehl H YU SgH&s I I8 Illsh UIlehed™ o 9T 8 3R A9 faeq
U HEAT | T8 91d Al AW TH ISl 8, Afehd 310 H 399 s fheH
&1 fgarend off |
(a) 1947 T YRA 1 fA9TS 31 Fh qaATeh i g ga ?
(b)  foqurem i e o 30w 53 Foheel Q1 G HiSATsal o foveiyor T |

() A wid =1 TS 7 g3 Bran, Ot fova o Wi i et == Bl ? 1+2+2=5

30. = fou MU st w1 eamyde T Hifve s frefifed Al % W
fefiau -

HifoRId T IeRTal T §igd S IR FAEmG] 5 5, 68 3deh AR
o T Sffem Sigd iod &1 T | Ahas sl HHT 3TN A ol SSET 1 39T
3T AT W W AT AT S T STHEHIT i STFER Jepall AR HledAl |
= B A | HSTd TST o R TEAM § guri hl awTehar off |
.................... | 394 TG & HHA! bl Y989 HH & € Hifedd T9 1 TS
FH AT o, ORI | @ o 3G bl Ul 3 U8 & $9hR

(a)  @Iford |9 1 T el Tierrert fohde TRl | g1 o ?
(b) Hifedd 99 H fopE YhR A1 AT gumed] oft 2 SEH Arehdites fHgrdi s

e form HT a6 foRam STraT ot 2
(c) Gifora ga & faftm morrsi & @ <t fohedl € gea meRieneTi &
IR HIWT | 142+2=5
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29. Study the passage given below carefully and answer the questions that
follow :

Thus it was decided that what was till then known as ‘India’ would be
divided into two countries, ‘India’ and ‘Pakistan’. Such a division was not
only very painful, but also very difficult to decide and to implement. It
was decided to follow the principle of religious majorities. This basically
means that areas where the Muslims were in majority would make up
the territory of Pakistan. The rest was to stay with India. The idea might
appear simple, but it presented all kinds of difficulties.

(a)  Why did the partition of India in 1947 prove to be very painful ?

(b)  Analyse any two major difficulties that arose in the way of

partition.

(c) What would have been India’s position in the world, had there
been no partition of India ? 1+2+2=5

30. Study the passage given below carefully and answer the questions that
follow :

The Soviet system became very bureaucratic and authoritarian, making
life very difficult for its citizens. Lack of democracy and the absence of
freedom of speech stifled people who often expressed their dissent in
jokes and cartoons. Most of the institutions of the Soviet state needed
reforms ........cceeeeeeen. . The party refused to recognise the urge of people in
.................... different republics that formed the Soviet Union.

(a) How many different republics together constituted the USSR ?

(b)  What type of party system was there in the Soviet Union ? How far

did it follow the democratic norms ?

(c) Highlight any two main aspirations of the people of different
republics of the Soviet Union. 1+2+2=5

591213 13 P.T.0.
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38l. ¥WRa % fou MU ToHifos W@rAWRE (98 156 W) # 499 TSI ol
@, ®, ©, ©Oaa S grr 3ifeed foram w1 7 | = & 78 TR F AER
TS ST hl IgaH HIT 3R A0 ITR-gfeqent | 3h Tt A, T 6l T8
SRR bl s g qut "t § fear mn e ster, A= & wE arferset
®Yq iﬁ f%ﬂfiﬁTI :

ERﬁﬂﬁTléyiHchl{l ‘J-IHI'CDI'EI -
61 A & Hafed s |

(1)

(i1)

(iii)

(iv)

v)

() -t sTeeH ¥ Heiud TS |

(i)  FIAT o IAMYHR & [T HAGIAH § Fald T |

(iii) I8 TST TR SATTIA o] T TRl T |

(v) BT & H SR> T hee-SiEd Yoy |
(v) Ted 8 JHIfed &9 S 1986 H TS &7 | 5x1=5
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31. In the given political outline map of India (on page 17), five States have
been marked as @, , ©, @ and @ Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

Sr. no. of the
information used

Concerned alphabet
in the map

Name of the
State

(1)

(ii)

(iii)

(iv)

v)

(1) The State related to Anti-Arrack Movement.

(i)  The State related to the movement for Right to Information.

(i1i) The State where ‘Operation Blue Star’ was launched.

(iv)  Recently created Union Territory.

(v)  Insurgency affected region which became a State in 1986.

591213,
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Fie:  [AElrET 3v7 e g qhenfoal & forg yv7 eI 31 & T ®
&1
(31.1) dargl-foeft sTereH form T=u © Hafd 8 2
(31.2) ‘g1 % IATUHR Heeh QI hl Y& FhT TsH & i 75 off ?
(31.3) ‘“SITTEM & WX fohd T5T & Hald g ?
(31.4) TA & H a4 g hrg-WM¥d Tt b I fafaw |
(31.5) WA &H % 229 TS 1 AW fARGW ST 1975 H Afedea § AR | 5x1=5

WU F
32. YUSHIT T 8 ? YOSHId IR dfvesh fefedawen W 9e+ el 9 o JWTEl H1
fergetwor =i | 2+4=6
arera
JeTeRul 3R ARG A Th-gil i TohH TehR Wil foham B 2 Tsh o foheql
TA-A 3T Rl GRT 39 I 1 FHH hIRT | 3+3=6
33. 3 uRfeufi 1 que T ek 3Taa 1969 H Tsgafd w8 & e 991@ 3¢
9 | 39 TG o YNUMH 3 HIUH I1E hl hd THTfq foha 2 3+3=6
arera
1975 o JATITAehIA g a7 fehmgl i Teehl o1 9ui9 <hIfT | 3x2=6
34. UH Topedl I fafire adienl &t samean i fSeh g smwdishl a=iea & fHuer S
T B | 3x2=6
rera
U g ot 31t guresel! & w@ed s % fofu Iwers fohedl i et
1 ST HINT | 3x2=6
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 31.

(31.1) Which State is related to Anti-Arrack Movement ?

(31.2) The movement for ‘Right to Information’ was started in which
State ?

(31.3) ‘Operation Blue Star’ is related to which State ?

(31.4) Name the two recently created Union Territories.

(31.5) Name the 22"d State of the Indian Union which came into

existence in 1975. 5x1=5
SECTION E
32. What is geo-politics ? Analyse the effects of oil on geo-politics and the
global economy. 2+4=6
OR

How have globalisation and India impacted each other ? Support your
answer with any three suitable arguments for each. 3+3=6

33. Describe the circumstances under which the Presidential election of 1969
was held. How did the outcome of this election affect the Congress

Party ? 3+3=6
OR
Describe any three lessons taught by the Emergency of 1975. 3x2=6
34. Explain any three different ways in which American hegemony could be
overcome. 3x2=6
OR

Explain any three factors responsible for the European Union to be a
highly influential regional organisation. 3x2=6
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